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Question 1 (2 marks)

Find Vo in the following circuit. The question does not require any tedious calculations.

V1

Solution: V1= 12V
V1 - Vo = 4V
12V - Vo = 4V
Vo = 8V

Question 2 (5 marks)

Apply nodal analysis to find Io in the following circuit.

V1 V3 V2



Solution: Node 3: V3= -6V

Node 1: 4 = V1−V2

1K + V1−(−6)
1K

2V1 = V2 - 2 (Eq 1)

Node 2: 2 = −6−V2

2K + V1−V2

1K
2V1 - 3V2 = 10 (Eq 2)

Solving Eq1 and Eq2 simultaneously:
V1= -4V
V2= -6V
Io = V3−V2

2K = −6−(−6)
2K = 0

Question 3 (3 marks)

Apply nodal analysis to find Vx in the following circuit.

Solution: 2 = Vx

10 + Vx

20 + 0.2Vx

Vx=
40
7 V
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